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General Instructions :
Question paper is divided into 4 sections.
It has total 18 questions.
Section A — 1 Question no. 1
Section B - 3 Questions no. 2 to 4
Section C — 4 Questions no. 5 to 8
Section D — 10 Questions no. 9 to 18
Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

ATATA 39T

S T TR GULT: i |

SAH J¥T9 TG (18) A1 Wi |
Qug: %’ - 1 - JHEET] 1
Qus: @’ - 3 - JHEE 2 ~ 4
Qus: M~ 4 -JHEEI 5 -8
Que: ‘g’ - 10 -JHEEI 9 - 18

TafRTe ~FHe¥IER 21 HIE1: |

STRYRAFTIT AT Jd GeSIH T A@H T |
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Unseen Reading Comprehension

10 37T

2x1=2

2x2=4

Ix1=1

1.  TYIfciRad T gfSea SEaye-TT STl §&hd- e |

frfcTRa TTerieT sl TRt o 7T e o ST Heehd § faiRae |
Read the following passage and answer the given questions in Sanskrit.
AT STEHTh THH: | HaTAT: S U IR A AT TER G S0 HI8RE FAid |
Tat it fafaesuo gaw: | Sawaar W Gean-SeeA f§ Siare ardet wafa | e
faferem srarfer — arfefeht eforeht = | wRmTfieh- T Tt S I Tt~ | O aui
g -aronef qreEiteh SHEl = gliehg S | AT Sl fheheera S Hew
e | TR TR BaT SAlfehehl WA WAl | STHAT TS YN HEIeE: S |
ST SHRIHT SR A qald | SHT €9 Tded e - 95 A1ag o e
HEFHT: TG STEHTE 0 el ATHTISIR Hall Walfal | d: STIa e eH: |
T9HAT:
(37)  THIG A : (hadl TeEIH)

T 3768 | I ST ; (halet a1 99)

Answer in one word : (Only two questions)

(i) W 9 wRre T At 2

(i)  HETCHM: S foh T=ai-q ?

(iii) AieReh! T THTST ShIGHIT: TFIHT: SR ?
(3AT) IR ST : (Fat TIEIH)

ot e e AT : (et 81 )

Answer in a complete sentence : (Only two questions)

(i) T &: SR 2

(i) T TS SRRl AT Hafe 2

(ili) ST T foh forag 2
(3) T A= [giersarcHeh quf<rd 2fiteh fored |

<60 e 1 41 AT 1 W S wier et

Write a suitable title for this passage in two or three words.

22 3
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AT I : (halet TeTH)
fAceTaR 3w T : (Faet o Te)

Answer as directed : (Only three questions)

(1)

(ii)

(iii)

(iv)

TR 3feT Tae ferRorad o -

(A)
(B)
(&)
(D)

LiEE e

~

greleyg

~

R

~

STEHTRH

~

3Ix1=3

RATTefeh-HFET HETeHT: ST T T=a(-d | 37 “HETeH:” 3 Shuaed

foramad fob Srg<he 2

(A)
(B)
(®)
(D)

‘e 3fd vee faettaag ford

(A)
(B)
(®)
(D)

“d AT ST SRrd” 37 SRl Q3T HeATHIS S TR 2

(A)
(B)
()
(D)

ATl
P

SEEDE

EICk)

~

sm:a
‘HTcHTT:’ Sﬁﬂﬁ
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Gl
us: ‘W@’
TATCHeh-hTAH 15 AgaT:
TATCHS /T
Writing Skills
wardt Zfd: | wacad §os TR @ | veredr: formers weht vateroniet westar | et
avhﬁgzﬁw@rﬁm@ﬁwmﬁlaﬁmﬁﬁﬁwﬁmﬁ BRIl
EERCCH |
maﬁr%wﬁa@mﬁwﬁ@aﬁ%mmﬁ@wrﬁﬁéw
Wwaﬁmﬁwmmwmﬁﬁw%@@%lwwﬁﬁwﬁﬁ?ﬁ
Wﬁw%qﬁaﬁwﬁqﬁwwaﬁw fefla |

You are Shrutl Your friend hve in Mumbal A seminar on environment

was organised in your school. Describing the seminar Shruti wrote a
letter to Meenakshi. Fill in the blanks in the letter from the words given 1

in the box and rewrite the same. 1 OXE =5

qaHq

EN

feeetta:
ﬁ?ﬂ%‘\ﬁz
frrata (i) !
U (ii) !
TAEHTR 3T faTeld IHieouTfa UehT qIiaRurmsT Gr =T | a%i
TR YA (iii) 8T (iv) TEUTT T SURIHT
O (v) Tl Yehfedr: | @ 3R Iq qTRaTieh: (vi)
A AR T A | AU qlishd FRUTCThET: (vid)
‘{ﬁ:ﬁ'ﬂT. |W9@WW% SHE Sfa FeT: Ui’ SeTieen:

TRgdfgl:  TOR@ET: | Afew™, AWMy foEmeRy @ gam

(viii) | Ea - SETeh-TwT0TT J=INT: JemeTer 7 forermdey: |
e forwer wafgamer afe wargeft Mt weiq afe (ix) |
foqet 7 |
TIT: Gt
(x)

HeSTuT

[N

TOEd, HHTET |, gewel, SFieR:, ffer:, wdawor, wewr:, Uuvfi,
HATRTRT:, FAfdsaT |

5 P.T.O.
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3. (%) HSYAT YSTRISEM] HERAGT el ctRad-ereehermai Rereer i qeire e
q: ford |
Wﬁmmﬁﬁmﬁﬁ%%ﬁwﬁﬁ?ﬁwwwﬁ
. ferftaw |
Complete the blanks of the following short story, with the help of 7
the words given in the box below and rewrite the same. 1 OXE =5
HHATE T FF (1) I AHFHET R AT € | dod
(ii) HAWTA: g I  FEH 3 (iii) “o g |
HTHIET:  T: FTEETHH (iv) |qaeEEi(v) g
TdEd Iq FST IE FE: (vi) qefy, @@ o Sifad: |
(vii) | 3Td: AT (viii) ? Taq e g8 @
Wawaﬁﬁwux) ‘AT AT awﬁﬁama&wrr
tb—crl'ﬁr@TﬁﬁTﬁ TIHe ST T AR STRITIAHT FeTOT HeATH Wisfd —sﬁr
(x) T II5H STHIEH AT |

HT T
ey, foamd, swfifedfa:, e, guan, afemu, wiafy, wafa,
AT, 3TT= |
grrat (OR)
@)  FIRIT-EETS NREHT Hosoed o I3 :

FfcTRad Eare # foeh T e # fag e amerii & st :

Fill in the blanks in the following conversation with the help of

given sentences in box : 5x1=5

AT — o oI5 | TR & S Iq miumRedE SHfead: Hal
a2

s — Tmala! ) |

HAA:  — AW S fid foaw q srenmeh geEyemEte Ay
St ﬂaﬁrlsrmﬁ:rawwﬁm?

o7 : —  HAM (ii) |

HAA:  — MW | IR | 9 AT T q HRITEH(:, T
Qﬁaﬁf%ramﬁ'cr | TR ﬁ%thlcyl TEATOT {ed =L el 2

o7 : — ST (i) |

HAA:  — W - ErdtaET il g R et | aretee- i
THE 5 TeoRmTEtd ?

22 6
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e — WAl Gv) |
HAA:  — W | IS EdEdelest T A |
WWW%W?
AT — (v) |

HHA:  — IMWEH | AdRE] GRS VAL g | RV @
émwmamaé‘aﬁaqﬁ@mﬁawwmwwvﬁal

HSUT

[=N

T I SATEI |

STH, #ft SATeTsETgT: et |
GIEITEATUIT STANT STHEEI ar: Fafe |

TR IGAT P Se-ATEe o foad vafd |
A fo wretereoT qedt = waifd |

HNTARIT-ATRIY FAToo TSR] HEel HTATE el |
freforfiaa aert o © fopeel aier STeRiT o1 Heahd H STTaTE hITSTT |

Translate any five sentences in Sanskrit from the following sentences. 5x1=5

The students sing a Sanskrit song.

Arnav reads Sanskrit.

(iv) BH|e A o frg T S & |

We all go to village for a tour.

(v) & 3T foemerd Stre |
You all will go to school today.

Yesterday was a holiday in school.

There are trees all around the school.

4,

(i) SHAEEHdMAMdE |

(i) AR

Water is life.

(iii) ~ 3Toid GEhd UGaT § |

(vi) hol foramea § 3TerehTsT T |

(vii) e & 9 o ge |
22
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Applied Grammar

A ARGd-aTeRIy WS fhdua™i af-d f-e=ee a1 Feal o | (STLHH Haa)

fFreferfiae aret o w@iferd Ut s afeyr et af~y-faese sk fiflaw | (haet &8 T99)

Disjoin or join sandhis in the underlined words of the following

sentences. (Only six questions) 6x1=6

5.
(i)  HaT yHidae |
(i) 3% Fd: FAASE A |
(ili) TN + I AT |
(iv) a1 T Sesieard |
(v) Ty 3Tfaer |
(vi) T+ Tot QIREHTT SR |
(vil) TH: hIET: + TAT AIN; |
22
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S TARTT-STRIY g fehee=TH 3ferd Teaud forure o gexiforsheusar: ferear fored |

(Rt SeTS=)
frefaRaa st & waiferd wal w1 3faa aaEqus a1 3faa foue =1 vea fosedi &
TR fAfa | (At afer we)
Select the appropriate expound from the given choices for the
underlined words “THEIUE’ or ‘fWE” of the following sentences.
(Only five questions) 5x1=5

()  AERT TR TR S A7 e |

(A) ISR dqH.
(B) ISR d=qH,
(C) ISiTd=qH.

(D) WS d=H.
(i) AT TR R |

(A) I FEY

(B) WY

(C) T&HEH
(D) 3T *RA

9 P.T.O.
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(iv) o Fefifod =aeiefd |
(A)  For A
(B) I 3ffraq
(C) 3fud Fem

(D) 3foaw sEfae

(v)  SIfhaTHT WYToT J=if ST el Je=T: Hait= |
(A) HYE:
(B) WY
(C) wLerity

(D) #\YEI=EH

(vi) gHTelehmT: Siia EreHTT: |
(A) =g rd gEM: T
(B) & 37eiH
(C)  &HuT SrefehTHt

(D) W= AT g =

(vil) TTeum I AR |

(A) H99: W¥H

~

(B) ®4:W@H

~

(C) wAgwEm

~

(D) w9 &Y

~

10
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e forshed s Fgd | (et TevehH)
frefefiaa amerit # Tariferd uei o IwIh Wk STa forvh Sehfd-Sear A s fag g
forspedi § @ T | (et B8 T9)

From the given choices, choose the correct combination of joint or disjoint

set of suffix for the underlined words in the following sentences.

(1)

(ii)

(iii)

(iv)

v)

ToH 1T |

(A) SU+3IY+TY
(B) 39+ A + dAq
(C) W+AF+
(D) 39+ Y + IR

aaTYeR! I + I + o |
A) Fedam

c ~

©) =

AGTeATer STTEAT |
(A) 30T + &
(C) U + dodq.

I13: TEaTy freem: |
(&) e +wqY
(C) ey + T=aq

TISTIRIT qrefiT |
(A) T + SR
(B) U + A
(C) uTef +
(D) 9Tl + 9

11

(B)
(D)

(B)
(D)

(B)
(D)

(Only six questions) 6x1=6

IEE]

=

famd

U + 29

SUIAd + adad

ﬁe’f&‘[+31‘ccf
ﬁT&{+ A=

P.T.O.



(vi) TogisE st gt |
(A) I + I
(B) &+ Faq
(C) o +7qY
(D) FA+3T
(vii) TR Heshd STTETIRAT ST |
(A) TTRF + FAq]
(B) 3ATE¥TH + Al
(C) AT + qAq
(D) ATEaWS + T

8.  wHfaH Iuve-fawithed fordd | (shered Swrm)

D ~

9 3T ek &9 1 T | (Faret i T=H)
Choose the appropriate subordinate clause form. (Only three questions) 3x1=3
(i) T et o T |
(A) T=H

o) ~

(B) o
(C) <q

~

(D) M|

~

(i) @R !
(A) T

~

(B) 3TEHIMNT:
(C) =M

~

(D) T
(iii) T yHfeae |
(A) $ICH

o) ~

(B) I

p)

(C) PG

~

(D) DI

p)

(iv) 3TeH 3TYa UHEWEH SaTH |
(A) @m

~

(B) =M

(C) g
(D) TaI
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(i) ufsatymaaTe g 25 IEHT:
gfeatsr sraarem

Reading Comprehension

9.  oTeNfaIRad meriet ufecn qRTUTiaT T &b 3 |
frfcTRa TTerisT il UGeht 36 UX ATHTHG T¥HT oh I H&ahd H I1SIT |
Read the following prose passage and answer the questions based on
them in Sanskrit. 5
me—&ﬁrwasﬁwﬁtw TRIUTOTI, | T STelR oot S O T | @
T ToaTTeRETaT I Erese S e AT AT TS Hoof HETelcTHTeA
qsr%rwmﬁ&aﬁﬁmwr&r TeTE TSR Wwﬁﬂﬁwwww
ST, TaT ARIaTE: | ST o § O Josil TsaaAvTg ferrfee nwﬁwﬁaa
aﬂﬂﬁrww | GARTE: Seirees 3f foemd U RESID Sl qgeagl HISHTCAT
I |
9T
(1)  THUSH 3 : (hadd TITSIH)
Teh I1oc | I SIST ; (helel a1 TH) )
Answer in one word : (Only two questlons) 2><§ =1
1) ‘eFﬁ:H'rrTl_aﬁ:l‘W-w AEIRSIE qqqlmqq ?
(i) T T WS gi%rgsr.wﬁ?
(i) TN Treered S1gsh: o: HATEq 2
() qoTaTeR I : (et TTEIH)
EUEICRR I SN CES KR
Answer in a complete sentence : (Only two questions) 2x1=2
(i) TOQT SATcHH: SR STea 9 = ool wieitey foh feremeamme 2
(i)  TEART: AvTresas gid forame T foh oo 2
(ili) TSI ST TSAYET el fomaata 2
()  FATGIH I : (haet THEI)
[EENICCRESIE SN CE S K B
Answer as directed : (Only two questions) 2x1=2
(i) T 3fd ques fRamdd oy 2
(i) YA 3id Yeey foretmoey 37 foh Seh 2
(iii) ST Yoo HETEHIAR O F AT Helled foramamE | 3 aeR
oo’ 3l Faed TorRIwoTde fof SRIThH 2
22 13 P.T.O.
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FTeIfTRad Tef afeeaT qaTemiar SR HEeha 3 |
frfcTRad T=r T UgeRt 36 TR STETRA T o St T&hd | ST |

Read the following poetry and answer the questions based on them in
Sanskrit.

(37)

(30

®

EINY I FHEH EAH |
frdvera shforat i,

N N
shHcdoh: ShUZhSITCTHT ||

Thded ST : (halcl TTTEIH)

Tk I16¢ 1 ST AT ; (Shared &1 )

Answer in one word : (Only two questions)

(i) NI Y s 2

(i)  fchee shiget wafd ?

(ili) o U fLrerd 2

E[\UTH'H@'—TW NCENBAEEOLY

ol TRy 8 I IS : (ohelet &t %)

Answer in a complete sentence : (Only two questions)
(i) Toh forg=a @ It Iy w Haifd 2

(i)  shH<Tsh: ot SferaTf 2

(iil) shHeTeR: shfora fok fdterd 2

TG 3T : (Faet THETH)
[EENICERESIE SN CE S K B

Answer as directed : (Only two questions)
(i) A 30 v forivurad foh SehH 2

(i) “gEMY 3fc wewr Fd wTauE foh The 2
(i) O 3T TERT Fd forAmdE foh SR 2

2x1=2

2x1=2

14
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FTeIfTRac ATeATet qfSaT TRTHTNAT JeHT H&hd 3 |

TR AT hl TEah 36 TR ST T o It Tk H A1 |

Read the following part of a drama and answer the questions based on
them in Sanskrit. 5

FUSAT —  ESITAAT: ol SRR AT ISt SHEhmT: qaTty awiee: af

Tyt — vt weg vt side araen = | Tt fg et wm-afaed
FT AT Hd: T ST T T hISTT ;| Tl qfade=t
Bt wrerr: | ufa: afe wqd o sl TeRmEld - daeg
TRTHTS FUTY ST &1 |

Feaeas: —  A&HIT: T Yo HRANT: I |

AT — US| AEHIgSET T 7 S | Ffe wret: gar iR = stfafierie,

q9dT:

(37)

(30

®

el SeHHT ¥ TSR |

Thded ST : (halcd TTTEIH)

Teh 3768 | I SINIT ; (Shalet af 99)

Answer in one word : (Only two questions) 2x—=1
(i) eI o |7 TSR 2 2
(i) oI G T AT Ueqaear = 2

(iii) FETCETET: &t T TG 2

QUIdTERIA I : (hare TeETH)
ol TRy 8 I IS : (ohelet &t %)

Answer in a complete sentence : (Only two questions) 2x1=2

(i) et =t | 2
(i) e 9 g eIt a2
(iii) fc: = Tafsid e & TeRTEl T TovTel dg o o i Weld 2

JYTHIIH I : (haet TEIH)

fASeTam 3 S ; (et 2 o)
Answer as directed : (Only two questions) 2x1=2

() @ 3 frames sue foh Sy 2
(i) Fraf sfo vee factmaey 3 fah weny 2

(i) @RI Sroawy foRreardd fofh ShH 2

15 P.T.O.
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12. (%) SAUIIRITE Tere Hremef HesTyexered: QR O fore |
frrforfiard wer st wiremef HesTwn  fow T Freat € e O Tt |
Rewrite the gist of the following verse by filling it with the help of
the words given in the box. 3x1=3

EEICIREERIBIEICRMIER I
| T o, shaet S=ead: ||
araref:

TSI foefia: ST ToHaTiRT&om (i) YROTT MY (i)
HTE | et foaT: et (i) e |

HaS{u®T

(=N

T, SFHEqa:, W&o |

14T (OR)
(@) eI Y Hrere fere fored |
T e off et & & g v e fafiaw |

Write the correct essence from three essences of the following each
part. 3x1=3

() SIHTA ST ST SR |
(1) AT I YIS |
(i) R ag uafd |
(iii) ST o8 UTsRicaT i Jufder |

(3T)  HYH: ECTTAT: |
() A AR YA |
(i) 7=y fawe: |
(iii) o= (Temore) o fafaaeuor stfgd |

@) a1 ge Wifdrarst
(i) 378 a9 HiSIIE HaaH |
(i) v o T |
(ifi) T AT T g A |
22 16
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N TARTT- 21T Tad o FheTTH HosoTyEd-IIsa M Feriaan I |
frmfarfiad sate % fau Tu st o e Tl st qfd wesT | fou 7T wreat st e
EEAISLY

The prose-order rendering of the following verse is given. Fill in the

blanks with the help of words given in the box. 3x1=3

TRT SUISTHTSY ShiY: Iesda o |

I =TT uref HoeHTE ||

g e ! () SNMME: = Pl Iesq U 9 | 9

(ii) U (iii) (AAUHET) |
HSHT

[=N

A, T, AT |

o T AT W TP STGThHAT: HE Hold e |
o TP o SR BT T TP o IOk TRl o A1 T shifsg |

Match the sentences of column ‘%’ with suitable sentences of column ‘@’. 4><é =2

ii.

iii.

v.

H T G T
T AT WG TSI 1. ATGITHT JASTEmR Jafd |
A i R g, 9 o A deeHH |

MERIST reaqeamy 3, IST: oAy Srcerst shidaa |

SATCHAT TSI JTedlT 4. SSITA] AT AT |

17 P.T.O.
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15.  SAUIARId-STeRIY W ohd-UaTT TaeTaT Y& 37 Hosyurd: ferea forerd |
frefoifiaa aert @ Tariferd wat 1 SETER 315 37 HosTo § e (TR |
Choose and write the appropriate meanings of the underlined words in
the following sentences with the help of the words given in the box. 4><é =2
(1) ST IR qaf-d eh-SE |
(i) YhTY EH AT g |
(iii) HIE A IS |
(iv) TSR U SReq: TEERRHTSHT Waifed |
AT
geeft, safe, amfr, S |
Qus: ‘u’
(ii) HEHaETasT AT 10 TS
HERT HTEed T AT TRed
General Introduction to Sanskrit Literature
16.  STITIRIA-THHT AT fofad | (Faet Teaam)
frefaiaa gt & s forRaw | (@Feret & a9)
Answer the following questions. (Only three questions) 3x1=3
(i) AU T 3 9TS: T JEdehId S ?
(i)  REOSTESEY 37d T THETRR: &: 2
(iii)  “TSTISTEh! Tq:” 3 UISH A@eh: & ?
(iv) ‘HRTHED IISET TIgehT I 2
22 18
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TSI WETRTSE1 ATeT eI =TT Qe fofed | (et Seara)
HoST W T T 31eat sht HETardT § Fieh T shl i ek fTfae | (sharet o 59
Fill in the blanks with the help of the words given in the box.
(Only three questions) 3x1=3

(i) RROCEgwErRed_ TEET A |
(i) ety uRreaRal
(iii) TEUETE ST HeAd |
(iv) SmWfeg: Ak
LEC LI

(=N

FHIAGTE:, =FFY;, HIEE, T&ATcTead |

Match properly : 4x1=4
i. ATEIARMEH 1. SU¥E:

i, TR I 9. HICIRT:

i, EE 3. WA

iy, SATEERITdeT, 4. WA

19



